First Names Nicknames Knots
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Presented by Puzzle Baron

reef
sheep shank Puzzle ID: U944NO
For hints, solutions and more puzzles, go to
Lightning www.Printable-Puzzles.com!
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< ) 20
e Tiny
= 21
Wolfman 53
78

1. The scoutmaster who taught the overhand knot is not Kendall.
2. The 21 year-old didn't teach the sheep shank knot.
3. The scoutmaster who taught the reef knot has the nickname Wolfman.

4. Of the scoutmaster who taught the reef knot and the person nicknamed Lightning, one is 53 years old and the other is
20 years old.

5. The person nicknamed Wolfman is older than the scoutmaster who taught the half-hitch knot.
6. Kendall is younger than the person nicknamed Tiny.

7. The person nicknamed Stretch is not Kendall or Allen.

8. The scoutmaster who taught the sheep shank knot isn't nicknamed Tiny.

9. The person nicknamed Wolfman is Talia.

10. Either the scoutmaster who taught the half-hitch knot or the scoutmaster who taught the overhand knot is Kendall.



